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QUESTION 1

When the command echo $ outputs 1, which of the following statements is true?
A. Itis the process ID of the echo command.

B. It is the process ID of the current shell.

C. It is the exit value of the command executed immediately before echo.

D. Itis the exit value of the echo command.

Correct Answer: C

QUESTION 2

Given the following routing table:

Kernel IP routing table

Destination Gateway Genmask Flags Metric Ref Use Iface
0.0.0.0 192.168.178.1 0.0.0.0 UG 0 0 0 wlanO
182.168.1.0 0.0.0.0 255.250.255.0 U 0 0 0 ethO
192.168.2.0 192316811 255.255.255.0 U 0 0 0 ethO
192.168.178.0 0.0.0.0 255.255.255.0 U 9 0 0 wlanO

How would an outgoing packet to the destination 192.168.2.150 be handled?
A. It would be passed to the default router 192.168.178.1 on wlanO.

B. It would be directly transmitted on the device ethO.

C. It would be passed to the default router 255.255.255.0 on ethO.

D. It would be directly transmitted on the device wlanO.

E. It would be passed to the router 192.168.1.1 on ethO.

Correct Answer: E

QUESTION 3

In which file, if present, must all users be listed that are allowed to use the cron scheduling system? (Specify the full
name of the file, including path.)

A. letc/cron.allow

Correct Answer: A
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QUESTION 4
What is true regarding the time in a Linux system?
A. The BIOS clock of a computer always indicates the current local time and time zone.

B. Each application must convert the Unix time to the current time zone which is usually done by using standard
libraries.

C. When the system is on the network, each query for the current time lead to a new network connection to a time
server.

D. When the system time changes, running processes must be restarted in order to get the correct time.

Correct Answer: B

QUESTION 5

What is true regarding the command sendmail?

A. With any MTA, the sendmail command must be run periodically by the cron daemon.

B. All MTAs, including Postfix and Exim, provide a sendmail command.

C. The sendmail command prints the MTAs queue history of which mails have been sent successfully.
D. It is only available when the sendmail MTA is installed.

Correct Answer: B
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